1.
Since fetuses possess the genetic code of human beings, abortion is wrong.

a ( b 

Key: 

a = Fetuses possess the genetic code of human beings.

b = Abortion is wrong.

You might have different letters or have your arrow in a different direction, but you should convey this idea:




If you prefer, you can avoid using a key in your answer and just connect sentences with arrows. Use the ‘text box’ option on your draw menu to make it look like mine.

2.
Abortion is wrong, for fetuses possess the genetic code of human beings.

a ( b 

Key:

a = Fetuses possess the genetic code of human beings.

b = Abortion is wrong.

Alternative answer:




3.
Fetuses look like babies for months.

Not an argument.

4.
Since the middle ages, abortion has been problematic.

Not an argument.
Fetuses possess the genetic code of human beings.








Abortion is wrong.





Fetuses possess the genetic code of human beings.





Abortion is wrong.








